





STATISTICS 2023 EXAM TWO SPRING 2000 PAGE THREE
STATE THE ANSWER. State the answer on the line given. (4 points each)

A small company in Altus, Oklahoma reimburses their employees for expenses each
month. The amount of employee reimbursements each month is uniformly distributed
between the values of $4,000 and $8,000. Use this information to answer the next

three questions. X = arosusa O.b WWT? Xorv uhf(ﬁlﬂ’wa 8)001?)

é » 000 17. What is the expected amount of employee reimbursement per month
at this company in Altus, Oklahoma?

_ 4,600+ 8,600
3 ' 18. What is the probability of employee reimbursements exceeding $7,500

next month? . A Boo \
P(K>Z§OO) = (83000—7)500 l'L)DOO = 4}000 =_§-=’,?‘S

‘ %
6,300 19. For budgeting ﬁ‘urposes, fhe & pany needs to estimate next month’s

employee reimbursement expenses. How much money should the company budget if
they want the probability of exceeding the budgeted amount to be only .307?

Fund X, P(X7X%)=-20

Xo=8k—.2(4K)= 6,800 | F7 -3
ShKCa(H=Cgo0 - AK % B

Assume that the random varia@ s a normal distribution with a mean of 175 units
and a standard deviation of 10 units. Use this information to answer the next three

questions. X N(l75) [oz),G=10.

) 55 Ll 20. Two and one-half percent of all the values of the random variable X are
less than what value? 025

Pk Ko, P(X<%0)= 025 . _ .y
s 11 >,
Fud 7o, P(Zeng)= 026 —F >%

7°
D = — 196 = X,= 175 +(-1.9¢)1p= 155.4
4 Q_l 3 H 21. If the distribution of X is as described above what is the probability that

X has values bet\?feen 180 and 193.8}?
P(180< X< 142,32 %
g0-11% - 242.,8- lq5>
—‘-P("—"Ta_"<}-(—¥‘< [—-"‘"—’ 0 : L

‘@ b & 1,89

= ‘6 4 ) _ o B B
1706 g z2 < 1.98) = .4499—,19|5 =, 2784

22 . If the distribution of X is as described above, then what is the value of

>

[N

the 337 percentile of the distribution? 33 , 6T
Fud X, P(x< X, )= ,33 "
= })P(:e:<’go)=‘33 AT %7 %

=> Bo= - 11 T el
= X, = M+ 7.0 = 175+ 6‘.‘{4)!0'_‘ [’)'3,06



STATISTICS 2023 EXAM TWO SPRING 2000 PAGE FOUR
STATE THE ANSWER. State the answer on the line given. (4 points each)
The monthly return on a risky investment is normally distributed with mean of $1,200
and a standard deviation of $275. Use this information to answer the next three

questions. X o N1l 200, 2775%),0 =275

/ » 200 23. What is the expected monthly return on an investment of the type

described above?
Ex=M= /[, 200

D [ 5"’ 24 \What is the chance that an investor receives a return of more than
$1,794 on this type of risky investment?

Y
=p(X=M | 1,794~],200 MO~
F( T e 17 1,250 794 ;X

=P(5}>2,!c,2=.5—.48%:,0154 & 2.1¢
Iﬂqé .15 25 Only 1.5% of all the people involved in this type of risky investment
enjoy returns greater than what amount?

Frud Xoy P(X7%0)= . 0I5

I:WW" ’20)?(%7'?")’ oS

=) = .17

= X = Mt T = L200+(2:17)2 78 = 1,796,75

Assume that a sample of 900 observations was randomly drawn from a population with
a mean of 485 and a standard deviation of 18. Use this information to answer the

remaining questions. Y1 =4 00, M =4gg . T =18

17{ g 5 26. What is the numerical value of the mean of all possible sample means
that would result from the above situation?
6 /M X = M = H85
. 27.What is the numerical value of the standard deviation of all possible
sample means that wouid result from the above sit atlon‘?

—

f i@G 686 28. Only 0 25% or 0 00 of the sample means that result from the
above sampling situation will be more than what value? State three digits past the

decimal. F\&J-)-(-o)P(? >'>?D):, 0023 —.0025
== ,?o) P(z ‘7/3,,)= 0025 H9 %
e = 2.8 >
e M+,90 %54—28‘(6 = 4R6. 686 o ?

lo 17 29. What is the probablllty that the sample mean which results from the
above situation will be between 483.68 and 484.287

P(483.08< < < 454.28)=

L8-H85 X - g4, 28 -H85 AN\
_ p(teabBotes X M 28 HES) Al N
G % CG o ¥ };p
h ""aflllllé

=P(-2.2<2<-1.2) = 420l —.%4q =



